
11/14

Warranty Information: All products are designed to provide the user with a cost-effective and durable product. Standard warranty is a ‘one year parts and labor’ warranty which 
warrants product against defects in material and workmanship. It does not cover damage due to accidents, abuse, or normal wear and tear. Products found to be defective will 
be replaced or repaired  at factory’s discretion.

10

11

Product Parts

1 - Light Head
2 - Hex Wrench
3 - 5 x 16mm Hex Screw
4 - 5 x 30mm Hex Screw
5 - Nylon Lock Nut
6 - 8mm Wrench
7 - Horizontal Adapter Bracket
8 - Quick Release Pin
9 - Light Support Mount
10 - Clamp
11 - USB Adapter

1

Ultimate LED Single Light Kit
Multiple Product Use

Product Set-Up
Step 1
Begin by removing all parts from case and place on a clean, fl at 
surface. 

Step 5
Route the wiring down the back of the display to a location near the 
power source. 

Step 2a
If the clamp (10) will be used on a 
vertical pole, install the Light Support 
Mount (9) directly to the Clamp (10) 
using the M5 x 30mm Screw (4) and M5 
Nylon Lock Nut (5).  The provided Hex 
Key (2) can be used to tighten the screw.  
Do not over tighten.

Step 2b
If the clamp (10) will be used on 
a horizontal pole, install the Light 
Support Mount (9) to the Horizontal 
Adapter Bracket (7) using the M5 x 
16mm screw (3) and M5 Nylon Lock 
Nut (5).  The provided Hex Key (2) 
and 8mm Wrench (6) can be used to 
tighten the screw and nut.  

Step 2b cont..
Attach this assembly to the clamp (10)
using the M5 x 30mm screw (3) and M5 
Nylon Lock Nut (5).  The provided hex 
key can be used to tighten the screw.  Do 
not over tighten.

SPECIAL NOTE:
This light is designed to operate on standard USB power and 
can be powered by other USB power sources such as laptops 
or USB battery packs.

3

2

4
6

7

5

8

9

Step 3
Install the clamp assembly by 
loosening the thumb screw while 
spreading the jaws open until it fi ts 
over the pole that the clamp (10) 
is being installed on.  Once the 
clamp (10) fi ts over the pole, begin 
tightening the clamp (10) in the desired 
orientation.

Step 4
Once the clamp assembly is fi rmly in 
place on the display, install the Light 
Head (1) unit by inserting the provided 
quick release pin (8).

Step 6
Plug the provided USB adapter (11) 
into the power source, then plug 
the USB cable from the light into 
the USB adapter (11).  The lights 
should illuminate.

Storage & Care
Place all product parts into carry case and store in a cool, dry location.  To clean, wipe with damp cloth.

1

9


